CTET PRT Question Paper 21 January 2024

PART <1 /MM - |
CHILD DEVELOPMENT AND PEDAGOGY ; ave faresra @ fnameres
reiate oplions

Direction : Amswer the following auestions (Q. Now 1 1o 30) by selecting the correct/most approf
P Frestontem wost (v s 1 @ 30) & 797 4 & forg vt e freeT g0

- o' cultural
I Assertion (A) = School curriculum should give reasonable space and value to learn

Ll'll.'lh.’h:d.gﬂ_
Reason (R) Supporting students to uphold their cu
Choose the cormect I‘Fﬁnh .
(1) {A) is true but (R) is false
(Z)  Both (A) and (R) arc false.
(3)  Both (A) and (R) are true and (R) is the correct explanation of (A).
(4)  Both (A) and {R) are true but (R) is not the correct explanation of (A).

N N e emm——ce i S———— R R RS R |
WTR) ;i e wret T e e ¥ g wed s e, W
wiwm w yrm g k)

=W fawey o
(1) (A) %%t & &% (R) 7em b
(2) (A) 3t (R) 21 e €

N2 (A) 3 (R) 2 et € sl (A) W1 (R) W€ = wem e
(4) (A) v (R) ZF w0 € S (A) 91 (R) w0 sTEm T w5

2.  Socio-constructivist views of learning advocate that -

(1)  Effective learning is activated by lecturing and explaining
(2) Effective learning takes place through the process of recall and rehearsal
(3)  Learners receive knowledge passively from others
(4] Leamners actively construct knowledge
e ¥ mraf - e e i a5 awen w09 §
(1) =amAr %97 3 ween | et o wfee dm
(2) wemen sfn drema w1 feea fa & warEt e ot @
(3) Tt gwdl @ e w9 & 99 W w0

_i4) Tt wfwa ¥ /99 1 fomm 7@ §.

3.  Which of the following statements is not correct about learning ?

(1) Leamning is facilitated by social action
(2) Learning as a product rather than a process
(3) Learming depends on learner’s previous knowledge
(4) Learning implies reorganisation of prior conceptual schemes
fretferfam § @ ®17 W ww7 Afom & i F w6 7 ¢ 2
(1) afum arnfas fFa g Safum o @

(2) sfaom uw wfem 76 sfvg ww = ¢
(3) sfam foend] & 9 5 W ks wom
(4) s %1 Aed T T wn F leaa

ltural identities facilitates learning,
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4. In the course of development. children achieve gross motor skills before fine motor skills. This

indicates that development fs: ¥ LT
(1)  Linear (2)  Proximodistal () Anarchic (4) Cephalocaudal
thﬂ.ﬁwmmmmwmmmlmmmm;
(1) ‘afte (2) mw (3) SR A b

S.  Reasoning, thinking and pmb&m@m;mmphmmwhkhﬂpﬁiddww?
(1) Moral Development | ™ (2) Motor Development

9 SR SR (4) Cognitive Development

ﬁmtﬁ-ﬂﬁﬁﬂﬂtﬁﬂmmmﬁmﬂmt?

() A Tve (2) i fawm

(3) wfEs fasm /w, f o
e ey o i dvpen

do children reason like this ?

(1) Sensory-motor stage N @) Pr tion stage

(3) Concrete Operational stage [~ (4) Formal Operational stage

Tt e W & v e e R e s e & 98 T A e s fem
&) < fourd ¥ warmes frsm fig 1 f5m s # o=t o F 0 2 82

(1) wad e s r\"',m"qd-mm
(3) w9 wfEaras sEe (4) shwafs whETeEE AT

7. Proximodistal principle states that in infancy :
(1) development of language occurs rapidly as it is a sensitive period for development.
(2) Physical development occurs rapidly with the development of fine motor skills.
{(3) the limbs continue to grow faster than the hands and feet.
(4) development proceeds fromshead to toe.
e firgia wo & £ e 4 )
(1) mwmiﬁ%ﬂmt%ﬂmtfmﬁﬂmmtl
A  few % Emeaifon fawm a0 A dm b
o) m-mmwmmﬂgammm
4) fasmfmadamsam o
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Assertion (A) : In Lawrence Kohlberg's moral development theory children move from ‘

10.
understanding consequences of acts to determine whether the§ hre good or bad
to understanding that rules and laws are flexible and can be changed
Reason (R) Lawrence Kohlberg argues that moral development occurs progressively in stages,
Choose the correct option :
(1) (A) is true but (R) is false.
(2) Both (A) and (R) are false.
(3) Both (A) and (R) are true and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).
sfimes (A) : mmtmmmﬂﬁmﬂmwt W T =g W AT
wﬁﬂ.mmmﬂiﬂ!hﬁmﬂnwmtmnﬂmmh
HAW (R) : fitn Fgerat w1 T € A faw wtes w9 8 w0 § g
w8 fawey ]‘1 -
(1) (A) 5=t af s (R) o0 B
(2) (A) 3T (R) 2 e &
A5 (A) sh (R) 2w & S (R), (A) B s s b
(@) (A) 3 (R) 21w § @ (R), (A) F T = A6 o e
11.  Which of the following statements about inclusive education is not correct ?
(1) An inclusive classroom “accommodates differences in language styles and promotes
collaboration”.
(2) An inclusive classroom centres around “fixed curricula and standard assessment”.
(3) Inclusive teaching means “teaching in ways that do not exclude”.
(4) Inclusive teaching means “adopting pedagogies that support needs of all learners”™.
Freferfaa 3 3 F1F @ Fo= qEEw fom F O F w6 w8 e
3y e wwra e s de 3 S = waETEE W & o weEm @ agmE A R
(2) ‘fafrem wreT=El 3 o geaEa ' # ST 1 U WA wE
(3) wEE fvem & e ¥ i wil A e  afea A
(4) s foem w5 54 E ‘g ForerereR W S A forefia w5 sEwmae 1 aRdE
III
12. Lev Vygotsky proposes that is important for self-regulation in children.
(1) Adaptation (2) Organization (3) Disequilibrium (3) Inner speech
AT WEad #19 € % =i o @- o % o wesg )
Wy wEe (2) A (3) FEIET (4) et amg
13.  As per Jean Piaget's theory of cognitive development, which of the following ability distinguishes
concrete operational thinking from Pre-operational thinking ?
(1) Hypothetical reasoning (2) Object permanence
(3) Coordination of senses (4) Decentering
ﬁmtmmtmtm.ﬁmﬂﬂm-ﬁ oA qd-diEaeE 1w
i wfwaTE W A e w €
1) frafer afdw (2) g v
(3) fedl = ww=E (4) fadem
R 5 K
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14. Which of the following types of questions can help assess a student's ability to evaluate information
critically ?
(1) Questions that ask for examples that validate the text

(2)  Questions that ask for a summary of a text
::E: Questions that ask for a simple definition of a term
Questions that ask for the student’s personal opinion
B P 3 F0 ® qrE F AEE T F

e 8 A fam w0 ¥ W UF 97w} ATEH F 0w B e

RECR 20

Ay W W W W A e F fo e ¥

(2) A ww A fdt o = weiw S E

(3) AW N R H G i F o gea ¥

(4) 3 W S o1 %1 =fETe 7@ [el §

Which of the following aptly defines relationship between cognition and emotion ?
(1) Cognition influences emotions but reverse is not true.

(2) Emotions influence cognition but reverse is not true.

(3) Cognition and emotion are two independent systems.

(4) Emotion and cognition are interdependent on each other.
5 ¥ dta ¥ Hay ® IrgR =9 A i s R

frsifefam o 4 $19-9 $u= HqE 3
(1)  HaR WEEH 1 wifas w0 € afE s favia s W g

(2) EAE HFF F) AT FO1 § o v favda we @ 8
(3) Fam 3 A, 2w wonfera €
) TEATd 3 WA S9E H uH-gH v ynEtE w9 | i @

16. Language development in primary classes is facilitated :
When teachers ignore and dismiss the mother tongue of the children.

(1)
(2) When teachers begin from signs and symbols rather than concrete objects.
When teachers use concrete examples to refer to abstract concepts.

E: When teachers stress upon and enforce the use of formal language.
sy wensi | s 1 e fee waw wafes g €2

(1) & e ==l 1 Sy w sagern o 39 w0 €

(2) & fogs qd A & Fong Hal o Wl # gF w0 8

& T o s sEamsl #1 wefa 0 ¥ foe 3 ST &1 39 i

(4) 7 fourw sho=ifs wm F wam W SR 29 € o 38 | wa

According to attribution theory of motivation which of the following is more likely to result in

persistent effort and improved performance 7
(1) Internal attribution for failure as well as success

(2) External attribution for failure as well as success
An internal attribution for success and an external attribubion for failure

3
Ed.i An external attribution for success and an internal attribution for failure
wfviaren & s fagia F sqan frsfafea § | fFea smr S it dem gadts =1 sy 2
(1) SEFd A0 TEA 34 F fou srfafs s
(2) FAHEN I AFEN A F fow Aed A

%) mwer & fer i smio she swwer % fo awd s
(4) wFam & fo TEd s sfy swem F o siafre s

P-I NI RIEmID 6

15.

17.
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18.  Inclusion of students belonging to disadvantaged groups demands :
(1)  isolation in the classroom on the basis of social affiliation.
(2) same-ability grouping of students in the classroom,
(3) awareness and sensitization towards diverse traditions.
(4) evidencing and encouraging identity-based stereotypes,
afam =il & wafun faenf & smmes ¥ fag .
(1) wrfaw waEm & SR W w8 s wen =ifen )
(2) wuR wwms ¥ s v fenfidl ) wl F fawnfsa s =feg)
3 fafa woemal % wfa sSrrewa i wdeaviem @ Tgm 2 wfe
(4) ve=m-smafe wfeEl # v st drarfes fim s afed)

19. While participating in a sports competition in class, Tanuj tells his friend that he will participate in
uwinvﬂmthiwmxdhushtercnnparﬁdpatniniumpplzrpe-becausﬂuhfisagirlnndgirhﬂnnm
throw javelin. This depicts :

(1) Gender equity (2) Gender stereotyping

(3) Gender constancy (4)  Gender equality

w0 § A T H e S W A A A | ww b e e S o e dm sl o
Fot § et 7w feem A wwd € wits Ay uw wea ¢ ooh oA wen W@ 6w wwa T

=1 wefvia = ¥
(1) et wwa Y = whgfem
(3) WEL Haum (4) =t HEES

20. Which of the following is a typical characteristic of Dyslexia 7
(1) Difficulty in physical coordination (2) Difficulty in spatial awareness
(3) Difficulty in creative problem solving  (4)  Difficulty in phonological processing

Frafafaa § @ 129 390 1 F fafore foim s=-w 7

(1) wwifeE o= § wfam (2) mmwﬂm

(3) TEE WHE FHNE # FHEr ) S o wfam
21. Problem solving is fostered by :

(1) Passive imitation (2) Respm'!se Su:t

(3) Divergent thinking (4) FunEhunal fixedness

Frefafas § @ 319 91 S T JEEE a2 7

(1) ffssa sEqEm (2) wffEa #2

2y s e (4) AT e

22. While divergent thinking convergent thinking

(1) Promotes mathematical abilities; promotes ver‘bal ahhues
(2) Promotes verbal abilities; promotes mathematical abilities
(3) encourages multiple answers; is fixed on one correct solution
(4) is fixed on one correct solution; encourages multiple answers

gl feaa= waf® stvar & 1
(1) nforira sl ) qamE 2o &; e gems # T g
(2) e g F) g 2 &; Ao e # 4w 2 g
(3) dmﬁﬁﬁmﬂam%mwwnmt
@) T WA e e ¥ w3 W e w0

SR 7

.
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ment ?

23.  Which of the haracterised as formative assess
C following would not be ¢ as lo standard set of criteria.

(1) An assessment task that is helpful in comparing students as per a
(2)  An assessment used to identify misconceptions in a student’s learning. -
(3)  An assessment given at the beginning of a new concept 10 determine students’ prior

knowledge.
(4)  An assessment given during the class to provide ongoing feedback to students and teachers,

Foeafnfem # & fad Terveeres ypesaiesa LA S 2

(1) ww geate w7 A AEAEE & T A 48R ¥ s ovH H ge FC1 s 6 f
(2) wmmmtﬂuﬁﬂwmﬁmmﬁtmmﬁmmtl

(3) Wt % d W fifes w0 ¥ fog o T smmon w5 gee 9 T T AT |
(4 ol shtT fgl syt wftrgfte wer w9 & forg % S fam T qEar |

24.  Which of the following is a characteristic of effective feedback in the classroom ?
(1) It is only focused on the outcomes,
(2) It is imely and specific.
(3) Itis given only at the end of the task.

(4) It is broad and generic.
foreaferfan § A Iydnit wfagie #1 v foavwm H9-5 87
(1) % Fae uftors s Hfza gt §
(2) aE A i fafoe dd &
(3) e Fa| wE F a o 6 4 5w g
P uE =TF T [qEg gt g

25. As per Howard Gardner's theory of multiple intelligence, which of the following set represents
correct match of intelligence and associated characteristics ?
(1) Musical : performance or composition skills
(2) Spatial : skill of appreciating the natural world
(3) Intrapersonal : skill in understanding and relating to others
(4) Logical-Mathematical : skill of dance or athletic abilities
wE e F AEAiE F fegm ¥ wan, frefataa § @ # w 82 9fE o e gaie e § a0

ue %) wfafafas s &7
(1) Hiaeq : Yau 1 T F & S
(2) T : WS AEE F FUEA F9 & w9
13y stadafers : g #) 99y 3 I g Ay =iE w18 F FeE
(4) =i ;g W wre-wEt gEad

26. Which of the following correctly describes intrinsic motivation 7
(1) Motivation that comes from competition with others
(2) Motivation that comes from a fear of punishment
B Motati (ot e e e it

| comes [

frefafas 9 A ¥ stafrs sifuon 1 g8t g @ #2 |
(1) sl 3 7Rd ¥ e sfwegf | e @
(2) sfvuTm = EE F v @ s d
(3)  sfvirTon S A g | s E
_(4)- sifwiron A Fr ¥ =faea- sz @ o €

P-1 N WIIRm 8 K
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. The parcel sending rates are given below | ..
Parcel weighing (50 grams or less) : € 15.00 parcel welgghing (for every additional 50 grams) : T 7.

Meena wants to send a parcel 1o her friend Charu in Delhi. The parcel weighs 350 g, Look at the
charges and select the correct cost of sending the parcel |

(1) ¥55 (2) T57 (3) T4 (4) TS0

e S w2 AR ond ¥
mﬂamm{mmmm“j;nsmmmm(mmﬁﬂmmtﬂm:r?m
mmﬂ?ﬂmﬁmﬂnmm&a\hmilhmﬂammawatlzﬂﬁmmm
1 wit ufn & T Wi

(1) TS5 )2) 57 (3 T42 (49 TS50

] 9 . ‘ll
15,  Which of the following is not true about ‘multiplicity of approaches’ in teaching mathematics

. |
(1) Offering such a choice allows children to explore and use the approach that is most natura
and easy for them,

(2) Itis crucial for liberating school mathematics from the tyranny of the one correct answer.

(3) Very often, there are many ways of solving a problem.

(4) It hampers the learning of child as it leads to confusion.

ﬂhﬂtﬁ!ﬂlﬂ'ﬁﬁﬂmﬁuﬂﬂ‘ﬂiﬁﬂﬁmﬂﬁﬁh~mﬂﬁﬂ g?

(1) mmtmwmﬁwﬁmmmmmmmmﬁmmmt
W 3% forn wam e she s @)

(2) ﬂwmﬁﬁﬂnﬂwﬁiﬂmﬂwmﬁtfﬂtm{ﬂh

(3) immm'ﬂmtﬁ:mmmmﬂrﬁtﬂaﬁkﬁi

W aw et & ST H A e & it Tw ww S

36. According to National Curriculum Framework, 2005, which of the following processes are least
relevant in a primary mathematics classroom ?

(1) Visualization (2) Making connections and representations

(3) Memorising formulae (4) Use of patterns
mmm,mtm,wmmmﬂmiamwmmﬁ
w1 A} wrwtw §7?
A grdrET (2) HeAw T O A fem
I WAl W °E w (4) A (wfr) 1 3wEm

SPACE FOR ROUGH WORK / % @rd % fery wrme
25
t- 9% B ep
LT IR n K

G Scanned with OKEN Scanner



G Scanned with OKEN Scanner




", Yamina threw a die 10 times and got the following results -
536614531312 1
mﬂhmmﬂ!ﬂﬂ-MWﬂh ;
m 1 ) 5 (M & (4)
wfew & U% W 10 W s i @ Frofefan oftws 5= T
53661453312
Eredfufign dumsi § & 28 sfusmm o @ den A g7

m 1 2 5 (3 6 A5 3
40, mdhﬁﬂmﬂhmhwﬂmhmm?

(1) Wﬂpﬂhmwmm:lﬂ;:&!-

7) Word problems focus more on procedural know in atics.

H Wﬂmﬁuhmm::mmhmmm-mm
a specific mathematical technique can be applied |

(4) Word problems are not examples of mathematical modelling

ety # B 9w wpeh nfom § vl T & fom w0 R

(1) v TR e WAfeE wwe § s o 1)

Fd) s T i § wrdfafus 3w sfes g b
MMHMﬂmwfﬁEMﬁﬂwmﬂhtw

Q/ﬂfldl!uﬂtﬁmm:lﬂh

(4) v WA i A ¥ e e
41 mmummuumdm.m-ﬂmmMM?

(1) 2536 (2) 2563 (3) 2356 (4) 2365
mmwﬁtnﬂm,ma&tmtiniﬂwminn
(1) 2536 ~2) 2563 (3) 2356 (4) 2365
Ome millimetre is the same as ¢
g (1) 000 m 27y 01m (3) 001 cm (4) O0lem
m'mtt:
E 001 m @ 01m & 001 cm (4) 01cm

frog jumps 3 steps it | ich of the
- 3 nﬂlnbhlpmpl?ﬂpnlﬂn-m&nm:phnﬂ. At which
. Mmﬁqhﬁﬂﬂhﬁﬂmﬂu?

(1) 378 (2) 354 (3) 343 4 3N

fadd ToR O B AAY STF UF T7E 3 TN # uw wrim 7 %28 %1 gam = £ = A fem owm
o # 2 g T wEm e 2
(1) 378 A7 354 (@) 345 @ 3N

~SPACE FOR ROUGH WORK / T wrd # fem, wg

P NI MIINI 13 K
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50,

51.

52,

Which of the following is most appropriate to introduce ‘Data Handling” at primary stage 7

(1) s"""'ﬁ‘il'lg population census of a aity for live years and askng students to compare population
growth,

(2} Drawing a bar graph on the blackboard and asking to read the data from it

(3)  Asking the students to read time tables of bus and tra ngs.

(4)  Within classroom, collecting statistics of students’ heighl favourite food; colour; cartoon ete.

and asking questions related to data,

sifirs v w  steel w wava' F aften ¥ fer Frefafam o & @l wa sy 80

(1) Toenfe =1 v v =1 ofa Wt & a0 T fra F1 FAEE g W TN FA
w FE

(2) vamp W uw gT-sivw fawitea w0 of frafila ) 508 8 stes 91 e F fog w5
(3) fTawfdd + 7w st 29 & aa 1 g99-snfmal 5w & fae e

Mmﬂﬁuﬁﬂﬂlm.mmm. M, 77 v W e g WO s SiwE W

st W e

According to National Education Policy (NEFP) 2020, assessment of learners include :
(1) Cognitive, social and spiritual domains

(2) Physical and psychological domains e

(3) Cognitive and physical domains )

(4) Cognitive, affective and psychomotor domains L)

T T ifa 2020, F sqEw, foafdd s srsem (=t wfva e &1
Dy S, W, st s >~

(2) oifrs s wrdafe smm Ny

(3) waEEE 3 offas sam -

(4) HIETwE, yERS $ TErETEE S -

Brij had a wire of length 100 metres to cover the land of his choice. He wanted to take the biggest

land. Which of the following measurements should he choose to take the biggest area ?

1) 25mx25m (2) 5mx45m

(3) 15m x 35 m (4) 30m x 20 m

T F G FE T F) A 9 F w100 drew an T THA T A T I A A o1
Frefafas # 2 23 fom wm w1 7w S =ifee mis 3099 w063 =1 de sifasmm @2

(1) Zmx25m (2) 5mx45m

(3) 15m x 35 m Ad) 0mxDm

SPACE FOR ROUGH WORK / % %74 I fe wmg

7107725

Pt NN 16 K
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PART - 111/ M7 - 1N
ENVIRONMENTAL STUDIES / qafave aeaa™

Direction : Ansuwer the fillirng quiestnims by selecting the correct/most appropriate oplions.

B : Frefafs vt & 7w 23 & forg sy WOR 3Tq% faweg i/
Read statements (A) and (R) properly and then answer the following questions.

61
(A) - Silkworm can find his female worm from many kilometers away by her smell,
(R) - Some female insects release ‘Pheromones” which can be recognised by their males by smell

Choose the correct answor |
(1) {A) is correct but (R) is incorrect.

2) (A is incorrect but (R) is correct.

(3)  Both (A) and (R) are correct and (R) explains (A).

(4)  Both (A) and (R) are correct but (R) does not explains (A).

FYA (A) 791 (R) W) e R 97 aa Frafafen sl & e 2

(A) : Ty W wrE S W W Ewt T A WY i g A @ seee am

(R) - 9 W w1 i wre € P i 9 e o ¥
Frfirfim & W@ a0 & 99 W :

(1) (A) = # fesg (r) o )

(2) (A)7era & f=g (R) |6 ¥
=1 e (A) U (R) 9 & 391 (R) , (A) F1 Wel = w5 8

)
'r; 2 97 (A) @ (R) w6 & 6] (R), (A) ¥ 78 = 4 % B
62.  Which of the following best reflects child -centred strategies in teaching EVS at primary level 7
(a) Discussion (b) Demonstration |
(c) Lecture (d) Survey
(1) () and (d) (2) (a) and (d) (3) (a) and (b) (4) (b) and ()
frerfafam 9§ A #17 a=-Ff=za rlad 51 7@ st gaia &7
(a) =i (b) wEIH
(c) =arEaA (d) wdEm
) @@ @ G B @ @ b))
63.  You wish that students learn by peer-leamning strategies. Which strategy will you adopt to form

groups 7
(1) Make a heterogeneous group based on participation and cooperation
Form a group of 5 students of same gender and socio-economic background |

(2)
(3} Make a roll number-wise groups of 4/5 students
Make a homogeneous group of students according to their scores in examination

(4)

5 wmed & & o1 wewel-foram worfiferal g+ | S waE &9 a2
Wy vttt it wwem & sm v uw faem e )

(2) mﬁﬂmm—quﬁtsmﬂmwwm;

MY /5 9T ¥ G A s e 7
(4) mﬂmﬁﬂtwﬁm“mwml |
|

Pl M 20
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67.  An EVS teacher taught about animals 1o her students and ask them to do the following task -
(a)  Write names of various animals around them |

(b)  Observe activities of different animals
(€) Classify animals into categories based on obseryatipns

E":\icﬁm?tum SEIIT“‘::!pmpﬂlll for students ;Iﬂnnmy Jevel as per the nature of EVS g
mm&:}ﬁll? (2) Only (d) (3) (@and (© (4) (b) and (c)
wmmamﬂﬂmﬂhﬂﬂmﬁ;ﬁﬁmwmﬂmw;
(a) sirg-urm & fafy= s & 9w fara) - '
(b) fafug=y Tt w1 Tifafafa] w1 e w0
() st & s O rrE w Afordl 3 At w0
(d) A W wfeafea ®71
i § A 2 T wrfow @ ol % fo vy e e
¥ (d) @ @ae© N b

AT W () (2)
68. Read the following statements carefully and choose the correct options
Statement (A) : Xylem transports water and minerals from rools o rest of the plant.
Statement (B) : Phloem translocates food from leaves to various parts of the plant.

(1 A) is true, but (B) is false (2) (A)is fnlﬁeT but (B) is true
[3; ItEimh (A) and (B) are true (4) Both [ﬁr-Jd (B) are false
fir T FwA ) SAEYEE 9§ UA Wel fawed 9

U (A) : A e s &) 7 R - e e A g #
e s Y i @ O 3 faf s e w5

a9 (B) :
(1) (A) %0 & 3f (B) 7o &1 (2) wu'a% (B) mel ¥
@y 7 (A) st B) = E (4) 7 (A) f (B) = W K

t to her students that they have to visit

69. Nina, an EVS teacher of class 5 gives a group assi .
 agricultural farms and find out information about the implements used by farmers during

ngﬂnﬂhfeiandﬂmtypedmpﬂheypuw. They also have to collect photographs and prepare a
report. What process skills and learning indicators are involved here ?

(1) Hypothesising, inferring, expression

(2) Prediction. experimentation, observing

(3) Questioning, Expression, Inferring '

(4) Questioning, Experimentation, sensitivity towards environment

w1 5 %) teitem fafum 9 393 o7l F) UF G SanEe 349 8w 3w & Fi e @ Ao st
st Ty & Zne furl gm 3w iy w3 @@ ITw 3T TR g I W AT weel & an il

A WTE FE ﬂﬁmmmﬁ#hﬁﬁlh TE #1 A wfww Fve i den §
wkaw mit § 7

(1) wftwee, sftm e, sfeafa

(2) SWH, T, HTEH

(3) wA w1, At w0, gfom fee
8y WA O, WA FTA), Yafer & vfa waee

U [ L) 22
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Ghadsisar Lake is NOT true ?

73. ".'T]“"'h one of the fnlh':-wing statements ﬁ-g.ﬂrdiﬂﬁ.
(1) It was connected with nine lakes. 76.
(2} Mis in use tll today
(3)  King Ghadsi of Jaisalmer got it made. !
(4) It was built around 650 years ago. |
THtR &} Wi Frefafun sl § 2 #99-50 0% F97 6 69 87 T I
(1) =% N el | 920 gsn 1
A2) T W s i wam H #
(3) e T wedt 3 @ w=>
(4)  T® TN 650 WISt qEE S T 91|
74. Seema, an EVS teacher organised a field trip to zoo for her students. Which of the f
the most appropnate objectives of the trip to the zoo ? ’
(a)  Recall names of animals in the zoo
(b) To relate concepts related to animals
(€) To promote process skills 77.
(d) Assessment of students’ leamning at the zoo
::“ @), (and () @) @and(®)  (3) (a) (Band() 4) (), (c)and (d)
.m%hﬁmﬁaﬁaﬁtmﬁﬁWEHM{m&q} F1 3
Freiterter 5 & # fafearm 2 aon & w98 s9gm stva §2 §
(a) Tafea ¥ sl S mar s
(b) A | Heifva smamons F sz
(c) nﬁmmﬁaﬁmh
(d) Tafearm & ol % b = smwers 78
M @ONG @ @ke) | of @pIe @ o), © R @
75. Rawvi took some water in a glass. H emon in it. Then
water, half a spoon at a ti:f'le Af-t;E:::t:m, 1-:;:“:“ ﬂ“lf k“?“iddinga lot of saltintoth
(1) Lemon splits in water. (2) Lemon remains II!.'I i )
(3) Lemon sinks in water (4) Le:rmﬂmuhw.m S
i3 A uw frema § e o 39 T
Lc
B, a3 e uw A A wmm_;;?x;mm' mﬁ!ﬂﬂmﬂmmmﬂ |
(1) g w2 il F 2z my @) ’ffiﬁmtma
|
P BN WO NE 24
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b A chapter in EVS textbook of NCERT describes Wahida Prism and her experience in the Navy as
a doctor. What are the reasona for including this chapter ?

{a) Her experience challenges gender stereoty pes

() Her story gives & peep into the life of & medical officer in the armed forces
() Understanding that prism reflects 7 colours

(d) Understanding the difficulties faced by her and her ways of tackling them

(1) (<) and (d) (2)  (b), (d) and (a)

(3 (a), (b) and (c) (4) (b), (c) and (d)

THLSA W Lo sy & o sarg o wirn w0 feen s dien § 2R ® W H e
sva W v R o et e W e o 12

(a) W e A il W it dm 8

(b) T wee wwen el o ww fafrn sfuws & s o oF e 2 b

() % waEn o fuw 7 i W owim B

(d) F9% =5 A Al wfaned s T ey & il 5 e

(1) (e) 3 (q) Az (b), (d) 3 (a)
(3) (a), (b) 3 () (4) (b), (o) s (d)

7. Which of the following stralegies promotes inquiry while teaching the theme “Food’ ?
(1) Asking students to find out food preferences of their family members,
(2) Showing pictures of various preserved food items used in different regions of India.
(3)  Asking students to collect pictures of various food items.
(4) Demonstrating fireless cooking of sandwiches, shikanji (lemon water) etc.

Frefefn 5 8 #3 @ woeff ' s din w s v geae ®) g @ 80

B ol & % oo & sl 1 un ¥ ovse W o s # e wen

(2) v & fafv= sl & 3wdm fen wd a@ fafys sftde wme gl & fors frmmn
(3) ol B fafy=r wre vl & fas v 0 F g we

(4) #ufow, fomsll (Frga arze) afe ) o 5 & 9573 w1 wed e

B. Consider the following statements (A) and (B).
Statement (A) : Bora is a common variety of rice used in Assam.
Statement (B) : Paddy grows well in clayey soil and requires a lot of water,
Select the correct code from the following.

(1) (A) is correct but (B) is wrong  (2)  (A) is wrong but (B) is correct
(3)  (A) and (B) both are correct (4) M}lﬂd{l]huthmwrmg

4 o 1w (A) 3fe (B) T Faem wfa

WU (A) - W0 wEy F I W AR WA E WO AR TR

W (B) . v w1 A P firg F s @ & v wEE W wee e o e e
Frefiafer # % wit wre g .

(1)  (A) @it & wr=g (B) 7om (2) (A) e § 9= (B) W R
3 (A) 3t (p) 2 b (4)  (A) 3t (B) 71 e &
ol (T 25 K

e
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. theme ‘Work We Do’ helps his &
roducing ‘:‘:ﬂ ;I::;imld The edges are glued o B,
‘ auld Alex help his students !“C‘lu-_.‘

79, Alex, an EVS teacher of class 3 while int

cut colourful strips of paper and weave the strips |

make a beautiful mat. Which of the following objectives sh SRR {

(@) learmning about colours, patterns and developing an aes :

(b) relating the activity to weaving done by weavers. 1
Mo v the s of making mat. | .

::;1 :1;:'-:‘T::l::;l?'::nsxt-rl:tlr:lttmrh'*.-u r::luurx and learning cutting of strips perfectly. /{, _

(1) (a), (c) and (d) (2) (a) and (c)

(3)  (a). (b) and (d) (4) (b)), (c) and (d) :

- : B3.
wna#wmmmﬁ'mﬁﬁmt'tﬁﬂﬁmHi’f'@‘lmmﬁhﬂ‘m'
s wfzzdi ®) %A S ol # W T § 5eE 6 o et =t F A & A A 9oy, A
Fawmm = ¥ ﬁmﬁﬁmmﬂmﬂﬁﬁﬂmﬁﬂﬁﬁmﬂﬁ; .
(a) 1n =A% F dree i ded i fawtaa w0

(
b) ¥m vfafafa 1 T gE H FH A A 3w w771 - _
() wert =) A %1 fafa F = AR w5 (v
(d) srwdw T F T g o g @ A | e A ¢
(1) (a), (c) 30T (d) (2) (a) A (c) (4
3 (a), (b) 3 (d) (4) (b). (c) 3 (d) d
80. Which one of the following statements regarding Al-Birumi is NOT true ? Choose the coms
ANSWOer a3
(1) He did not wrile anything about ponds in India.
(2) He has praised the making of ponds in India. -
(3) The place that Al-Biruni came from is now called Uzbekistan.
(4) More than a thousand years ago, he came to India. (1
o -faw & an | frefefas Fa § | 97-0 0F $991 79 9 27 af 3w 2 0

(1) 3 WA 3W TGS T & 9 d §o it w9 foran €
AT FH3 A9 S@l W A § AW a9 w5 5 44
(3) we-fawh 7wl B 9@ 9 W AT IH=EEE T £

(4) AR B M) T WE A q% NAE 5 8| v
81. Which one of the following regarding Johad is correct ? Choose the correct option. 84
(1) It pumps groundwater into nearby wells, P .
(2) Stores waler from rivers, ::I
f

(3)  Itis a community based rain water harvestin
(4) It hilters impurities from water. SR (1

\ |8 IW
(1) T ATTH  F § 361 51 96 231 w2 T :
(2) wqﬁﬁﬁﬂrﬁmmh &
(3) T WHITA AN A9 Aw s qomet
JURIR LR L £ O P p——— =
TR o Py
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3. What is the mass of an object with a density of 12 g/ ml and a volume of 3 ml ?

(1) dog @ 45 g O 158 (4) AUy

gqﬂmmmhnrmqﬁ}wmmtmmxmmh
o 9% @ 4m ~J @ 15m (4) um
4 N

.. Read the given statements carefully ﬁ"‘“""‘ the correct option.
Assertion (A) : We can cook food casily at sea level as compared to higher altitudes.
Reason (R) : At high altitudes, boiling point of water increases.
(1) (A) is true but (R) is false.
(2)  (A) is false but (R) is true.
(3) Both (A) and (R) are true and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

ﬁqmtﬁﬁmﬂhwimw@ﬂqgﬁ:
e (A) : Wmmﬁﬁiﬂmmmmﬂwmmh

FIOT(R) : mmmmﬂﬁéﬁmwaﬁnh

(1) (A) &= ? afF (R) 31593 21 :rj‘l)

2) (A) ¥ & @ (R) 59 ¥ *2;1
By 2 (A) 3 (R) 5 § 31T (R), (A) T FE wEwO
(4) = (A) 37 (R) 7 & AfEA (R), (A) T T T A6 ¥

» H}usbemubmwedbybirdwatchemﬂutm&npeculiﬂrupeciuu{hirds. The male bird make
their own nests and the female bird looks at all the nests and selects the one she likes the best and

decides in which nest to lay her eggs. The name of the bird is :
(1) Indian Robin  (2) Sun bird (3) Tailor bird (4) Weaver bird

Mmmmﬁ!ﬂﬁﬂm%hMﬁWWMﬂmm YA - YA STHE T
¢ w39 Wi vifae @) T B3 A IR W ST e e f aw swd 3w e

Lo R IR CR T ROk Ch # -~

My wafad (2) m% (3) =l fafgm  (4) e ol

O
TR - W K
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gs. Consider the following statements about beehives ~.

e ——

Y -

(a) Honey bees live in beehives. Every beehive has one queen Bee that lays eggs.
(t) There are only a few males bees in the hive which have special roles as workers,

{¢) Most of the female bees in the hive a k all the day in making the hive
nndllmluokmgnjlﬂuwhnbybeu."wmmmwhuwm . 4

(d) The worker bees fly around Litchi flowers in search of nectar for honey.
The correct statements are |

(1) (a) and (c) (2) (a) and (d) (3) (a) and (b) (4) (c) and (d)

(a) i v ¥ ow A e €1 W o o uw e At & s 2
b) T HFE A 0 ¥ R oA v g & v & frdre el w0 €1 -

() ::::ﬁﬁmmmmmmmm w1 B F TR TS T W e -
|

(d) AT e R % e T W wie ¥ ferg o % el & i s s e -
TR ER TR T

(1) (a) 3 () (2) (a) 3f (d) @B @3mp) W (@

. An EVS teacher asks her students to think and answer “Why do we feel comfortable in woollens

clothes during winter”. This question is a :

(1) hypothetical question (2) factual question

(3) convergent question (4) analytical question

T T fafee 1 ol § S o s 23 ¥ fon wedt § 5 o wfEa & dm w wee o =i
FEAMEE AT WA A T

(1) s v ¥ FeEeE W

(3) #fvEd vE (4) fawroTeE wA

. Read the following Statement (A) and Statement (B) below and choose the correct option :

(A) : About 4700 years ago, some of the earliest cities flourished on the banks of river Indus and its

tributaries.
(B) : About 1500 years ago, cities developed on the banks of the Ganga and its tributaries.
(1) (A) is true but (B) is false. (2) (A) is false but (B) is true.
(3)  Both (A) and (B) are true. (4) Both (A) and (B) are not true.

fyefefan wam (A) 991 9= (B) 1 2R | 92 a9 w61 fawew 71 wm =57
(A) : =m 4700 = gd Fiy 7w TR HeraE Ted F FAR T2 wifeF o wd-wa )
(B) : tm Fen sai weT Afedl ® AR T FAEHE T 1500 796 55 g

(1) (A) =@ & fig (B) 7o £ (2) (A) Tt e (B) wE B
A 2 (A) wE (B) w6 £ (4) @ (A) T (B) T T E
Wi 2
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PART - IV
LANGUAGE - | : ENGLISH

IMPORTANT : Candidates should attempt questions from Part-1V
opted for ENGLISH as LANGUAGE-I only.

(Q. No. 91-120), if they

Read the passage given below and answer the questions

Yet as scon as she saw him, she did not look as Alfred thoug
blue eves never wavered, and wi
seemed to have been thrown on

Mrs, Higgins. I'm Alfred’s mother.”

Mr. Carr was a bit embarrassed by her lack of
to say to her, so she asked, "Is Alfred in trouble ?°

“He is. He's been taking things from the
and toothpaste and lipsticks. Stuff he can sell easily,” the pro

Mrs. Higgins put out her hand and touched Sam Carr’s arm
and speaking as though afraid of disturbing him, she said, “If you wo
anything”. Her simple earnestness made her shy; her humility made
moment she was smiling gravely again an
to do, Mr. Carr 77

“] am going to get a cop. That's what | ought to do.”

her, she put out her hand to

“Yes, | suppose so. [t's not for me to say,
advice is the best thing for a boy when he is at a certain pe

Alfred couldn’t understand his mother’s quiet
had suggested that he was going to be arrested, he

agamnsi him.

91. Study the following statements :

that follow. (91-99)
ht she would look : she smileg
.t that made them forget that her

th a calmness and dignty Mr. Carr and said politely, %

terror and her simplicity and he hardly h“lﬂ

store. 1 caught him red-handed. Little things like compey
prietor said.

with an understanding gentlens,
uld only listen to me before dog
her falter and look away, h‘_‘l

d she said with a kind of patient dignity, “What do you inte

because he's my son. Yet | sometimes think a little g
riod in his life,” she said.

composure, for if they had been at home and somes
knew she would be in a rage and would aya

(a) When she entered the drug store, Mrs. Higgins was not properly dressed.

(b) She looked like the mother of a guilty person.

(¢) Mr. Carr did not expect her to be calm and dignified.
(1) (a) and (c) are right but (b) is wrong,

(2) (a) and (b) are wrong but (c) is right.

(3) (a) and (b) are right but (c) is wrong.

{4) (b) and (c) are right but (a) is wrong.

92. .. made them forget that her clothes seemed...”
The underlined word is a/an .
(1) Preposition (2} Conjunction  (3) Noun

P-L MNNINETNEITE 30

(4) Pronoun

E
i
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Read the extract given below and answer the questions that foll

100.

101.

102.

103,

104.

105.

P-l

e

ow. (100-105)

All the world is a stage.
And all the men and women merely players;
They have their exits and their entrances,
And one man in his time plays many parts,
His acts being seven ages. At first the infant,
Mewling and puking in the nurse’s arms;
Then the whining school-boy, with his satchel
And shining moming face, creeping like snail
Unwilling to school. And then the lover,

Sighing like a furnace, with a woeful ballad
Made to his mistress’ eyebrow, Then a soldier,
Full of strange caths, and bearded like a pard,

Jealous in honour, sudden and quick in quarrel,
Seeking the bubble-reputation
Even in the cannon’s mouth.

Identify meﬁgumuhpeechusedinﬂwﬂ:ﬁtli:m.
(1) Personification (2) Hyperbole (3) Simile (4) Metaphor

‘ ... their exits and entrances.....”

The figure of speech used here is :
(1) Personification (2) Hyperbole (3) Simile (4) Metaphor

Why is the lover's sign compared to a furnace ?
(1) He offers warmth to his beloved. (2) He is writing a ballad.
{3) He gets angry very soon. (4) He feels emotionally charged.

A soldier is jealous about his honour as :

(1) he is ferocious like a leopard. (2) he wants to win at any cost.
(3) he is jealous of his enemy. (4) he is very sensitive about his honour.

What do all men and women do ?
(1) play outdoor games like football, cricket, etc.

(2) fight wars
(3) perform various roles in life

(4) indulge in indoor games like chess, cards, etc.

A school-boy :
(1) likes his teachers. (2) both (3) and (4)
(3) is reluctant to go to school. (4) looks beautiful in the moming,

T LR O 32
4
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113,

114.

115.

116.

117.

118,

119.

120.

CEN TR

(TLM) for his “llq

Learning M 7
T“"':m"sl criterion for choosing T:;:' 3
at l[ﬂ:'-“f .ﬂ'ﬂ". . a8 Il' w

allow for easy replacement. me roughness o
The material Eh;n should be made by :hg(féﬂldlm only and have oy
ren of this age group to use,

slipperiness
(3)  The material chosen should be attractive safe for dmﬂdﬂ r the children to explors 4
The material chosen should provide ad opportuni

(4)
experiment with curiosity. E
A teacher in class 111 asked her leamners (o as ' puﬂ"lﬂ’ :
using the word ‘can’, e.g can you swim 7 This of activity enhances
(1) Free speaking (2) Passive listening
(3)  Oral fluency practice (4) Controlled oral practice ‘
between letters and sounds is :

A teacher is planning to collect a variety of
students. Which one of the following is NOT
(1) The material chosen should be preferably-lgcal

(2)

Literacy teaching approach that emphasise the relationship 1
(1) situational approach (2) phonics in!tmchﬂﬂ
(4) grammar translation

(3) whole language Approach
ely 7
Which one of the following is NOT correct about teaching grammar effectively
(1) Provide practice in communication.
(2) Leamn grammar by memorizing its rules.—_ |
Promote genuine communication. O

(3)
(4) Elicit relevant rules of grammar. ~J
textbook design at the foundational stage|

Which one of the following is NOT the prh'tcip'lb-d!r
Techinology Principle

(1) Concrete Principle (2) .
(3) Curriculum Principle (4) Présentation Principle

Clﬁldmninttmfnundaﬁunalslagemmu( ed in learning when :
(1) they trace or write letters repeatedly in notebooks.
(2) they focus only on developing fine motor skills.
(3) they sing rhymes after the teacher.
they use multiple senses and actively use their hands.

4)
Which one of the following statements is NOT correct with respect to the given sentence ?

Sentence : Rhymes, songs and chants are ways for children to :
(1) practise pronunciation. (2) enhance expression and the rhythm of sentence
(4) memorize words and sentence structure,

(3) extend vocabulary,

ﬁmchﬂukedﬂmmmexchnngewmwlndthmkﬂ'lehmwmk. The object
of this task is to :
(1) give controlled practice of structures, ~J
(2) develop the skill of peer correction. ~J
(3) give practice in extensive reading, )
(4) give practice in using new vocabulary. U.‘

']

0
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WW-W{?# Him]tmtmmﬁlﬁfﬂaﬁ w-lﬂfﬂm“
il

V‘Wﬂm@w“*ntmmmﬂmw”“'m
e mmmﬁwﬁmmmﬁghwﬁmhmtmmmw
mtmmmmtmm,m_m,mmm_mﬁwmﬂ
ﬂmtlmmﬂwmmhmﬁmwmﬁmﬁl "=, e,
“ﬂnmﬂmﬂ?mqﬂmmmﬁmwmmmmh

siafr Tr=gd | Hataa 76 §
Is is - (1) L 2T fovan (3) fm faem (4) A
!ﬁwﬁﬁ‘ﬂmt.
g m t A2 3 @ @ (4) =
e i e i A
(1) T FEE W IGE (2) T W W A # T w
(3) WA H FEE WA T ) T E gl F g
wmE sER Ak fay _ wEifs wee #)
(1) it W i wwEE =" (2) s, amem wewm 3f @A
)1( faar sfe wral 1 wfas (4) itfrw T uE Yo
rafumv= i
(1) ==H A2 = (3) == (4) fsfern
Tea T g Siats o g
T w v ¥
(1) AT T WA i T s
Q) A i i = T g R i
(3) aredl i sited) Ty 2 SR
§L Vit T AT T s #
- o R Fai e ferdea ) waw @ 87
By e - wofarm (2) WA (3) E = (4) Hfrdt srEvEma
sEvaEa ¥
:1 angdt si siradt wresa sin folen (2) mmmmmmu:m
() awdt vr=gm sh frfem (4) il wrm fotern
- PR gy wA TOWR A
W A (2) Awrre () fawrrE ) fawfew
LTI 35 K
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%*“*ﬁmﬂm&ﬁwmmmﬂmm-nm—m
v fot st s i) ¥ wferer R,
ST ¥ fo, wardt vt el ot ot
AT i 3 i @ w g of,
=t Fwt A i we @ e owoTE e,
THE! H9E o srgar w1 Hfa syoard o)
T 3o i wrm, s wnfveE |
o firelt sl d vl & aferem B

100. s foerd & a0 fed e &2

AT ol % afereE #9) (2) ST = & wear ®11

(4) a7l % srea- e & |

(3) o = e Aifa #®
01. ‘sifa’ w= | fm werm w1 WA e W wea €7 -
(1) 7= 2) ¥ (3) @ —{4]
102. &9 %I @oam & 7
(1) = w1 w1 S (2) wga = wF fem T
(3) el 1 famior fowan By F e w1 g 2

103, sfEm A fFg'sa’ FaA wt T &7
1) TR EEmE-RFEE (2 SO T F AN U0 &

ymﬂﬁwm% (4) =mrl =9 fgemEe 1 F
104. 29 ¥ EGAA TE FIA H UH T4 HHG 70 911 7z w3 Ffam F feg sin F wfafafaa o &7
(1) e T s e A yﬂﬂﬁﬂﬁl

(3) o el & AfereE | (4) wHA w3 qEE 91|
105. ‘Tafver’ @ wfa-fawe ¥ _

(1) @+ sfmE = + #yamA

(3) =@+ A (4) =+ e

frerfafan 3§ A 19-7 WafiE T T FEEEd & 5§ and w6 ot
Wwﬂnwtmﬂﬁhmmm:

(1) SeTYE 37 ZEY Aaes off e 4 AR 937 SRR v 5 g )
gy T TSI #1 qER 9 WA 3T AR wwm g

(3) foefdl 9 A wifeea 71 fafas v F1 s 1 2w & o frerd afeg
(4) wﬁtmmtmﬂﬂhtﬁimmwi

106.

p-t MNEIMINNOIE 36
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s/ fafu w=5 w)
ﬁmﬂﬂ‘mt? SR WX T sy e v () A W
(1) v v ¢ : A2 wenate fufy
&) W, 4) e 3o
aﬁﬂlﬂ;‘tﬁ:mmtm}mm?
(1) _m” (2) wowm shr e A

g T P T & w3 e

@) m!“ﬁﬂmﬂfﬂﬁﬁﬂiﬁqmmmﬂﬁﬁfﬂﬁm AT HE
) g Foendl F o= v i e v S w0

ga, WP SR/ T R 3 <fe 6 awf ittt § s & g w8 w2

) v i (smEe) Q) %= s fafu
f) WG S Jricg
o, 9 T F 0 e e &,

“f HON FTH FATTF F A A WS GHa F o atAm (wgAe) w9 /O sr=ar €0
wiod aET F TR s wE?

n) = ffEn (2) HEIRE T
@) W 8 T W
i # 7F F i e w9 92T = g w9 ¥ o == F o qerst = 90 w0 aaa
fefafan § | f5a wva =) 9a8 sfus seay g9 e ?
b ¥ [EAF ArE FE F USA YeEd] & 96 ) Fataa $ ¥ 52g F 7
p) WA TEE US A sfuew e gEn | yam § o sege €2
B) ¥ TS F oaEw w0 €7 e Fifed & 5 s ¥
) = [ Fan ¥ sy faefeEl F W S TR F AqEn o w ¥

8. % s e ) 3 Faenferal 3 ferg, Fafe w1 frem St Jondl s < o # ) frefates 3
¥ 3-m wreE Fusum F W ¥ o e A R
g e ———————y LSRR R L R
Q) i am fadk a=d gra w0 g =ieg 3 fEEEE w1 A= ¥ fere o e a fen
B) W s v s e ¥ A 5 g & for0 S g @ e
) mmmﬁﬁmﬂﬁmtmmmmmﬂmmm

N hﬂ 37 K
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PART -V
LANGUAGE - Il : ENGLISH

EMHII‘.TAHI : Candidates should -ltrmpll&uum from Part-V (Q. No. 121-150), if they have

opted for ENGLISH as L AGE-11 only.

e
Read the passage given below and answer the questions that follow. (121-128)
But the Lion went into the forest and f :l‘: own supper and no one ever knew what it was, for
he didn't mention it. And the scarecrow fo full of nuts and filled Dorothy’s basket with them,
« that she would not be hungry for a long ti & She thought this was very kind and thoughtful of the
«arecrow, but she laughed heartily at the awkward way in which the poor creature picked up the nuts.
His padded hands were so clumsy and the nuts so small that he dropped almost as many as he put in the
basket. But the scarecrow did not mind how long it took him to fill the basket, for it enabled him to keep
away from the fire, as he feared a spark might get into his straw and burn him up. So he kept a good
distance away from the flames, and only came near to cover Dorothy with dry leaves when she lay

down to sleep. These kept her snug and warm and she slept soundly by until moming.

When it was daylight, the girl bathed her face in a little rippling brook and soon after they all
started toward the Emerald city.

This was to be a wonderful day for the travellers. They had hardly been walking an hour when
they saw before them a ditch that lay across the foad and divided the forest as far as they could see on
either side.

121. Which one of the following statements ik frite 7
(1) He shelled the nuts for Dorothy. (2).] Nuts mostly grow on bushes.
(3) Scarecrow is not caring. ’4,[‘ He knows that the nuts are good for Dorothy.

122. Which one of the following statements tfuqt true 7
(1) He decided to hunt his prey.
(2) Dorothy felt amused at the way gathered the nuts,
(3) Scarecrow was afraid that the Lio might kill him.
(4) Lion could not eat the nuts gathered by the Scarecrow,

123, Study the following statements :
(a) The Scarecrow gathered nuts as the tree was full of them.
(b) He feared for his life so he got busy in gathering nuts.
(1) Both (a) and (b) are right (2) Both (a) and (b) are wrong,
(3) (a) is right and (b) is wrong. (4) (b) is right and (a) is wrong,

124. Study the following statements :
{a) Dorothy was obliged to the Scarecrow.
(b) The Scarecrow vanquished his hunger with nuts.
(c) He gathered so many nuts that no ¢ would remain hungry,
(1) (c) and (a) are wrong but (b) is ﬂm
(2) (a) and (b) are right but (c) is
(3) (a) and (b) are wrong but (c) is i
(4) (b) and (c) are wrong but (a) is i

125, No one ever knew whatit was . [~
The underlined is a/an clafise) _
(1)  Adjective (2) Adverb [~ (3) Principal (4) Noun
il L LT o4 K
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g ::1 ~ One can easily locate : ;:“’
Their shrill shrieking ca iy mll':: hirping

@
1) mﬂhﬂllﬂ}'dmn“h Mlmhw
{f:-, mhdlmﬁhmm““:rlnm
who is a birder ? morning calls
lﬂm ane who rears the birds .
@ one who catches the birds one who hunts the birds

¢ Sody the following satemens - #)  one who watches the birds
) Indian mynas are generally k hrmm people.

(¢) A myna couple can also be | noisy quarre
(1) () and (c) are right but (b) “m:;m!lh, ing themselves.
) (a) and (b) are wrong but mhﬁght:
IMPorta (3) (@) and (b) are right but (c) is wrong,
(4) (b) and (c) are right but (a) is wrong,
faculty . | One of the best way to leam a second
l'ﬂmllge IS :
them, yoy m wﬂﬁamsmdmhdﬁhﬂuﬂndmumuummgmmm.
2) by joining a speaking course for the target language.
L & ) mﬂmncmmvhﬂeywmmmhgmmmdrﬁﬂvéhﬂlpfrmat:uhtr.
::..,‘ (#) by constant contact with native speakers  in their own society
\ .
- . i children hear two languages spoken around th
Hon in the a mot any diff ¥ e i em, this exposure will
(2) confuse the children, hindering understanding,
ratmatoes | () put the children at a disadvantage.

(4) put the children at an advantage.

1. The students learn patterns of language by repeating model sentences that the teacher provides.
Thg}*msetphrﬂumdrﬁvzpudﬁwuin!nrrmtﬁnmthﬁ:tudmwhendwypﬂfnrm
the drills correctly. The teacher is using the :

{1} Total physical response (2) Structural approach
3)  Audio-lingual method (4) Communicative approach

D8, This reading has certain learning aims and tasks, leamers are supposed to read the text in detail
with concentration and due care, It is called :

(1) Guided reading (2) Pleasure reading
(3) Extensive reading (4) Intensive reading

W0, At the beginning of the lesson, a teacher divided the class into groups and asked them to talk about

an interesting newspaper article that they had just read. This type of speaking activity is for

enhancing

(1) Guided oral practice. (2) Active listening,
() Oral fluency practice. (4) Controlled oral practice,
WL. Children’s cognitive development and language

(1) development bear no relationship.
2) s closel mhmdmﬁzcﬂﬂﬂmﬂihmrﬂlrmwhhhmﬂdmum

y
B3) huhudmﬂgfrhﬁphdmmmm'"ﬂlpmuﬁuﬁhm
() is that an individual is born with a tool to master the language.

" g . K
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147,

148,
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most importantl
T0 assess reading skills at primary level a language teacher should ¥ focus o

(1) reading at a proper speed.

(2)  reading with understanding.

(3) identifying the letters of alphabet.
(4)  use of punctuation mark.

Whole lﬂﬂﬁ‘ulgc gppn“h is ¢ hi
(1) Blends sounds (2) Infers a sound-symbol relationship

(3)  Meaning based (4) Skill based

A teacher asked the students of class V to read the story quidt]}'
order. The purpose of this activity is to ; ‘

(1) give them practice in reading for specific information.

(2) revise the new and difficult vocabulary of the story.

(3) arrange the picture cards.

(4) give them practice to reading for the gist.

“Language learning is an intensive process that begmns
Do you agree or disagree with the above statement ?

(1) I partially agree with the statement.

(2) | partially disagree with the statement.

(3) 1 agree with this statement.

(4) 1 disagree with this statement.

Assessment tools and processes at the foundation stage should be designed in a way that :
(1) learner’s progress is described and analysed with that of the overall class performance.
(2)  a teacher may use common single method to assess the achievement of all the learners.
(3) explicit tests and examinations become appropriate for learners.

(4) they become a natural extension of the child’s learning expenence.

Learners are memorising grammar rules and vocabulary and large amount of work is done in thex
mother tongue. Which method is being used by the teacher into his language class ?

(1) Communicative teaching (2) Grammar Translation

(3) Direct method (4) Natural approach

Along with print books and audio books the books that engage the tactile abilities of young children
should be a part of the classroom because :

(1) it makes books more accessible to diverse learners.

(2) these books will not overly burden a teacher,

(3) it brings variety to the class and children love variety.

(4) it gives autonomy to teachers to use different books for assessment.

Abig:lfﬁlen 4 ing to read is finding motivation and good children’s literature. To overcome

this ge :

(1) Provide easily accessible Children’s literature to motivate and generate in R

(2) School authorities must take learners to book fairs to generate motivation and interest i
reading books.

(3) Teachers should motivate them to read a book everyday as homework.

(4) Encourage parents to establish a small library at }nm_}r

A good speaking activity is the one during which :

(1) leamers talk more (2) participation :
(3) teachers explains more (4) IEII'I'IE:" bj';:?‘-’km students is the maximu®

mdlhmpultlwfﬂurpiuw‘i

at birth and continues throughtout life.
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